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What colour is the woman speaker’s dress?
A. Blue. B. White. C. Purple.

. What’s the possible relationship between the two speakers?

A. OId classmates.
B. Former neighbours.
C. Once husband and wife.

. Whom did the man speak to?

A. Mrs. Green. B. Dr. Brown. C. Stasi.

. Where do you think the talk probably takes place?

A. In a post office.
B. In a bookstore.

C. In a department store.

. What sport does the man prefer?

A. Either table tennis or bowling.
B. Either tennis or bowling.

C. Neither tennis nor bowling.
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6.

What might the man be?
A. A cook.
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B. A policeman.
C. The woman’s husband.
7. Where was the wallet found?
A. In the restroom. B. Under the table. C. On the table.
WrsE 7 BextiE, %5 8 2 10 R,
8. Where did Sue spend the nights in the country?
A. In a farm house. B. In the open. C. At a hotel.
9. What was the weather like in the country?
A. It snowed a lot.
B. It rained nearly every day.
C. There was a lot of sunshine.
10. What did Sue think of the people in the country?
A. They were hard-working.
B. They were strange.
C. They were friendly.
WrEE 8 Boxfih, MIZASE 11 2 13 &,
11. What’s wrong with Mr. Wonder’s trousers?
A. A dirty spot is on the pants.
B. A button is loose on the pants.
C. There are some stains on the vest.
12. What does the woman get from the man?
A. Trousers, pants and a vest.
B. Pants and a vest.
C. Pants, slippers and a vest.
13. Where does the conversation probably take place?
A. At a laundry shop.
B. At a clothing mending shop.
C. At a clothing shop.
WrEE 9 BeXtid, MIZSE 14 217 &,
14. What does the man plan to spend the holiday this year?
A. To go to Egypt.
B. To stay at home.
C. To travel abroad alone.

15. What is the advantage of traveling by sea, according to the woman?



A. One can have a safe journey.
B. One can enjoy the beautiful scene on the sea.
C. One can have a better rest during the voyage.
16. What is the main concern of Bob’s wife about a trip to Egypt?
A. How much a round-trip ticket would cost.
B. How long the trip would take.
C. Who is going to look after everything at home.
17. What’s the possible relationship between the two speakers?
A. Husband and wife.
B. Customer and waiter.
C. Good friends.
WrsE 10 B e, [E226 18 2 20 &,
18. How much of earth’s water can man really use?
A. Less than 3% of it.
B. Nearly 75% of it.
C. About 15% of it.
19. How can we escape a worldwide water shortage in the future?
A. Use less water.
B. Develop ways of reusing water.
C. Invert ways of increasing rainfall.
20. Which of the following is true?
A. Water can be used only once.
B. Waste water can be recycled.
C. Fresh seawater is drinkable.
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. How did the man feel about speaking at the ceremony?
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What is the probable relationship between the two speakers?

A. Teacher and student.

B. Secretary and boss.

C. Collegues.

Which country did the man’s wife visit last?

A. Malaysia. B. Korea. C. Japan.

A. Nervous. B. Excited. C. Brave.

. How much did the dress cost when it wasn’t a bargain?

A. 13 pounds. B. 20 pounds. C. 26 pounds.

. What is the probable relationship between the two speakers?

A. They are husband and wife.
B. They are businessman and customer.
C. They are host and guest.
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6.

What does Mr. Smith want Louise to do?
A. Look after the baby for him.
B. Clean the stairways for him.

C. Have a dinner with him.



7. Which evening will Mr. Smith go out for dinner?
A. Saturday evening.
B. Sunday evening.
C. Friday evening.
WrEE 7 B, BIESS 8 £ 10 &L,
8. Where does the conversation take place?
A. In a company. B. In a factory. C. In a hospital.
9. Why can’t the woman sleep well? .
A. Because she has been working too hard.
B. Because she has a family problem.
C. Because she has a high fever.
10. What does the doctor suggest that the woman should do?
A. She should take some medicine.
B. She should change a job.
C. She should take a holiday.
WrEf 8 Bexdif, B 11 & 13 &,
11. What are the speakers talking about?
A. Buying a car. B. Choosing a gift. C. Using a computer.
12. What’s the relationship between the speakers?
A. Husband and wife.
B. Professor and student.
C. Salesman and customer.
13. What do we know about the person mentioned by the speakers?
A. He is going to have his sixtieth birthday.
B. He is too old to drive a car.
C. He must be fond of learning.
WPEE 9 BeidE , B 14 £ 17
14. What does Jane think of her trip to the West Coast?
A. It was wonderful.
B. It was terrible.
C. It was tiresome.
15. What’s the disadvantage of Los Angeles?
A. Tt is noisy.
B. The weather is hot.
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C. There is no subway and the bus service is terrible.
16. What’s the weather in San Francisco?
A. Warm and nice.
B. Cool but comfortable.
C. A little cold.
17. Why is it easy to go around in San Francisco?
A. Because it is small and the transportation is good.
B. Because it has subways.
C. Because it has a smaller population.
WrEE 10 B, [ME5E 18 % 20 @,
18. How did Rose go to New York yesterday?

A. By bus. B. By train. C. By air.
19. With whom did Rose have lunch?
A. Professor Real. B. Mr. White. C. Nobody but herself.
e 20. How long did the meeting last?
A. 4 hours.

B. 4 and a half hours.
C. 5 hours.
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1. Where does the conversation take place?

A. At school. B. At the doctor’s. C. At the post-office.
2. What does the man think the woman’s father should do?

A. Go to see the doctor.

B. Give up smoking.

C. Smoke less.
3. What does the woman feel when she was offered a lift?

A. Much surprised. B. Rather nervous. C. Very delighted.
4. Why does the woman advise the man not to speak to Mr. Smith?

A. Mr. Smith is in a bad mood.

B. Mr. Smith is in deep thought.

C. Mr. Smith is in disappointment.
5. What will happen if the man fails his driving test?

A. He will not drive to work.

B. He will not be hired by the company.

C. He will be fired by his company as a result.
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6. How does the woman feel about her work!

A. Too serious. B. Too much. C. Too hard.
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7. What’s the man’s suggestion?
A. Relaxing sometimes from work.
B. Going shopping occasionally.
C. Taking a rest some time.
Wrsg 7 B, 148 8 %10 &,
8. What does the man ask the woman to do?
A. To cut off a little hair over his ear and on top.
B. To cut off a bit of hair just over ear.
C. To cut off a little hair only on top.
9. What kind of hair cream does the man prefer?

A. Quite oily. B. Not too oily. C. Oily.
10. How much does the man pay for his haircut?
A. $15.15. B. $50.15. C. $15.50.

Wrefs 8 BN G, M4 11 & 13 &,
11. What did the man plan to do at first?
A. Work in a supermarket.
B. Open his own business.
C. Work in an old shop.
12. What is the man’s job now?
A. A shop assistant.
B. The owner of a supermarket.
C. A businessman.
13. What do we know about the woman?
A. She once worked in Japan.
B. She has a job abroad.
C. She changes jobs too often.
WreE 9 BEXdih, A 14 217 3,
14. What is the new product used to do?
A. Do some housework.
B. Settle family problems.
C. Manage money matters.
15. What is the robot programmed to do?
A. Shopping and figuring.
B. Repairing and guarding.



C. Cleaning and washing.
16. How does the woman like the product?
A. It’s safe enough. B. It’s too expensive. C. It’s worth buying.
17. What is the probable relationship between the speakers?
A. Reporter and manager.
B. Customer and salesman.
C. Housewife and shopkeeper.
WS 10 B, A5 18 = 20 #H,
18. What is the name of the group recently set up in New York City?
A. Bike for A Safer City.
B. Bike for A Better City.
C. Ride for A Better City.
19. What has the group been trying to get the city government to do?
A. Forbid automobile to run along the main streets.
B. Paint another special lane for bike riders.
C. Paint special lanes on some of the main streets for bicycles only.
20. Which of the following is not true?
A. Bike riders in New York City are not many as there should be.
B. Bike riders in New York City use the same lanes as cars.
C. More bikes would make New York City less polluted.
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. What can we learn from the conversation?

F-P(HSMNEE8NEL 5D, HD7.54)

B AT, AR TEAE WA R AL B . T BB RS , IRESA 10 Fh4h Yt fa)
R A SR/ NERAREE T —/ M, BB TR (UL,
1.

Where are the two speakers probably going?

A. To the river.

B. To the seaside.

C. To the place far from the sea.

What did the man buy?

A. A suitcase. B. A briefcase. C. A box of cigarettes.

A. The woman won’t go to Paris for her holiday.
B. The woman will go to Paris with her husband.

C. The woman will go to visit her husband in Paris.

. What is the possible relationship between the two speakers?

A. Husband and wife. B. Boss and secretary. C. Guest and host.

. What do we know about the two speakers?

A. They’ve missed the train.
B. They’re on the wrong train.
C. They can’t find Tommy on the train.
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6. Whose mother was ill?

A. Jeff’s. B. Jack’s. C. Richard’s.



7. With whom did the man go traveling?
A. Maria. B. His dog. C. Jeff and Richard.
Wrfs 7 BeXdid, IS 8 2 10 &,
8. Where can they have meals during the trip?
A. In the bus.
B. At fast-food shops.
C. In hotels.
9. What does the woman advise the man to do?
A. Take a bath in the bus if the weather permits.
B. Bring suitable clothes and some other things.
C. Come to the service for more information.
10. What information does the man forget to ask about?
A. The place to leave from.
B. The cost of the journey.
C. The time to book.
Wrss 8 Bexti, B 11 £ 13 &,
11. When was it unusual to see a plane?
A. In the early 1960’s.
B. In the early 1890’s.
C. In the early 1900’s.
12. Why can we use electric lights according to the man?
A. Someone has paid for us.
B. We have more money than before.
C. Someone invented ways to make ase of electricity.
13. What are the speakers mainly talking about?
A. The changes of life.
B. The history of planes.

C. The invention of electric lights.

WrEs 9 BN HE, MIZES 14 217 8

14. What’s the matter with Anne?
A. She lost her job.
B. She wants to find a job. ' =
C. She can’t make up her mind. :

15. Why does Anne want to change her job? m
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A. She can get more money.
B. She doesn’t like her present job.
C. Her present job is not interesting.
16. When should Anne make her decision?
A. Tomorrow. B. Today. C. Next week.
17. What does Robert want to do?
A. He wants to give Anne a hand.
B. He also was to get that job.
C. He wants to give Anne a job.
Wr 10 Bophe, 856 18 2 20 A3,
18. What kinds of climate does the United States have?
A. The climate remains the same all over the country.
B. The climate is different, depending on the area.
C. The climate is very pleasant all the year round.
19. What is the climate in the eastern part?
A. It is cold in winter and hot in summer.
B. It is warm in winter and comfortably cool in summer.
C. It is warm in winter and unpleasantly hot in summer.
20. How do people in the cold parts of the United States get their fresh fruits and veg-
etables in winter?
A. They grow them in the greenhouses.
B. They get them from abroad.
C. They get them by trucks, trains and planes.



